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. weiw we & fod uw fawer wom afad ) 1. It is mandatory to fill one option for each question.
2. wft wwl & o wEE E | 2. All questions carry equal marks.
3. WS W F A UF # I A | uw ¥ afie e 2 A 3. Only one answer is to be given for each question. If more than
T # Wee & IO F TG /A AG | one answers are marked, it would be treated as wrong answer.
4. OMR TR-95% ¥ WA-YEme & st war ¢ | 7@ snwst weA- | |4. The OMR Answer Sheet is inside this Question Booklet. When you
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are directed to open the Question Booklet, take out the Answer Sheet

and fill in the particulars carefully with Blue Ball Point Pen only.
5. Please correctly fill your Roll Number in OMR Answer Sheet.
Candidate will themself be responsible for filling wrong Roll No.
1/3 part of the mark(s) of each guestion will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.
Each question has five options marked as 1, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL POINT PEN.
If you are not attempting a question then you have to darken
the circle ‘5°. If none of the five circles is darkened,
one third (1/3) part of the marks of question shall be deducted.
After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.
A candidate who has not darkened any of the five circles
in more than 10% questions, shall be disqualified.
If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.
Mobile Phone or any other electronic gadget in the examination
hall is strictly prohibited. A candidate found with any of such
objectionable material with him/her will be strictly dealt as per rules.
Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted under Rajasthan Public Examination (Measures for
Prevention of Unfair Means in Recruitment) Act, 2022 &
any other laws applicable and Commission’s Rules-
Regulations. Commission may also debar him/her permanently
from all future examinations.
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“The Chhappan Plain” is situated
in which of the following Basins ? '
(1) Chambal Basin

(2) Mahi Basin

(3) Luni Basin

(4) BanasBasin

(6) Question not attempted

¥

Which of the following rivers drain
in Rann of Kutch ? :

(1) West Banas and Luni

(2) Mahi and West Banas

- (8) Sabarmati and Luni

(4) Mahi and Luni. *
(5) Question not attempted I meh

South West Monsoon arrives first
in which among the following
areas ?

(1) Sawai Madhopur & Karauli
(2) :Nagore and Jodhpurt

(8) Paliand Churu  *

* (4) Ganganagar'and Hantimangarh

(6) Question not attempted. :

Aridi soil group is primarily“found
in which region of Rajasthan ?

(1) Southern Rajasthan

(2) Western Rajasthan

(3) North-Eastern Rajasthan

(4) South-Eastern Rajasthan

(6) Question not attempted )
Arrahge the ‘following mountain
peaks of Rajasthan in descending

<

order of their heights : "~ ]
(A) Kho (B) Babai -

(C) Taragarh (D) Rishikesh,
Codes : .
@ DACB
B,C,D, A
(6) Question not attempted
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In which among the following
areas sub-tropical  evergreen
forests are found ?

(1) XKelwada (2) Kolayat
(3 Abu (4) Suratgarh
(5) Question not attempted

L]

Maize is mainly produced in .-
(1) North-west Rajasthan

(2) North-east Rajasthan

(3) Central Rajasthan

(4) Southern Rajasthan

(5) Question not attempted

Match List I with List IT and select
the right answer using the code
given below : ~

List-1 List-1II
(Conservation (Main Wild
Reserve) - Animal)
A. SundhaMata I. Bear
B. Rotu II. Black Buck
C. Bir — Jhunjhunu III. Chinkara
D. Bisalpur IV. Hare '
Codes : '
A B C D

1y I I IV 1III
2 I 1Iv I 1III
@ I IIm Iv I
@ Iv II I I
(5) Question not attempted

Which of the following factors are
related with desertification in
Rajasthan ? .
A. Canal irrigation

B. Over grazing

C. Soil erosion

D. Wind energy projects

E. Deforestation

Codes:

(1) AAB,CandD 2) A,B,Cand E
3 B,CandE () B,DandE

(6) Question not attempted
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Sawan Bhado 1rr1gat10n project is
related with :

(1) Baran district

(2) Udaipur district

(3) Ajmer district

(4) Kota district

(5) Question not attempted

Which of the following is a natural
gas based power plant m Rajasthan ?
(1) Barsingpur (2) . Chhabra
(3) Chittorgarh (4) Anta

(5) Question not attempted

Which of the following project was
the, ‘First Wind Power Project’, in
Rajasthan ?

(1) Devgarh Project

(2) Amar Sagar Project

(3) -Bithadi Project

(4) Dhooniya Project

(6) Question not attempted

As per 2011 census, how many
districts in Rajasthan have more
than 28 percent of the Scheduled
Tribe populatlon in then' total
population ?

(1) 08 (2 06 (8 03 (4) 01
(5) Question not attempted

‘Musi Maharani’s Chhatri’ is located

m.: . 1
(1) Dholpur (2) Alwar
(3) Bharatpur (4) Kota
(5) “ Question not attempted

Which one of the following is a
breed of goat ?

(1)- Kankrej . (2)+ Sirohi

(3) Malvi = (4) Sanchori
(6) Question not attempted

When was “Mission be an

Exporter”, (Mission Niryatak
Bano) started in Rajasthan ?

(1) 2020 (2) 2021

(3) 2022 (4) 2023

(6) Question not attempted

Which of the following 1s not
correctly matched ?

Mineral Mining Area
(1) Uranium — Rohil
(2) Feldspar — Makreda
(8) Tungsten - dJamsar

(4) Beryllium Champaguda
(5) Question not attempted
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18. To manage the loss of farm income

due to monscon failure, the

“Sookha Suraksha Kavach YOJana”

is being operated by

(1) Agriculture Insurance Company
of India

(2) General Insurance Corporation’ .
of India

(3) NABARD

(4) State Insurance Department
of Rajasthan .

(5) Question not attempted

19. 4-Start Rajasthan’is an initiative by -
(1) Department of Information

Technology and Communication
(2) Department of College Education
(8) Department of Science and
4)

Technology

Department of Tourism
(5) Question not attempted
If the arithmetic mean of twos
numbers is 5 and its geometric mean
i8 3, then these two numbers are :

(1) (8,2) @ (6, 4) (3) (7, ) (4) (9, 1)
(5) Question not attempted

20.

21. If p be the rh order central moment

of a population then Mo By and py are*
(where ¢ is standard deviation)
1 0,1,qc2 2 1,0, c?
@ L1,0 @ 1,1,0
(5) Question not attempted

Milk is sold at the rates of 8, 10, 12
and 15 rupees per litre m four
different months. Assuming that
.equal’ amounts are spent on milk by
a family in 4 months, the average
price in rupees per month is :

(1) 10.67 (2) 11.25

(3) 10.25 (4) 11.00

{6) Question not attempted

“Sambal Gram  Scheme”, in
Rajasthan, is related to which of
the following ? -

(1) Economic Development
Social Security

Social Welfare

Educational Development

(6) Question.not attempted

*
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Given the two lines of regression
B3x—4y+8=0and 4x-3y—~1=0.
The correlation coefficient between

xand yis
1) +1 (2 -1
(3) 0.75 (4) -0.75

(5) Question not attempted

The Spearman’s rank correlatlon
coefficient is minimun if :

(1) Tdi?is minimum.

(2) . ¥di%is maximum.

(3) 2diis minimum.

(4) Xdiis maximum.

(5) Question not attempted
where di is the difference between
two ranks.

If two regression lines are
identical, then value of correlation
coefficient will be always

(1) -lor+l . (2 -1

3y +1. 4 0

(5) Question not attempted -

If X,, X, and X; are three variables,.
the partial correlation between X2
and X, ehmmatmg the effect X in

terms of gimple correlation
coefficients is given by the formula :

T of
19¥13
(1) reg;=

Yog —
2 2

\/(1 —r1g) (L -T1g)
| Ygo—YoiTgy .

@ 1= T
HaJa-r) a -

Tag —Xi9T13

@) 1y =ittt
P AJa-dpa-idy

(4) All of these
(5) Question not}attempted

The measures of dispersion that is not
influenced by the extreme values is :
(1) Variance

(2) Mean deviation

(3) Range

(4) Inter-quartile range

(5) Question not attempted
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(6) IR v a1
i :

Let a random variable X take values
0, 2, 4 with probabilities PX = 0) = p,
PX=2)=2pand PX=4)=1-3p. If
EX) = 3 then the value of Pis :

(1) /4 (2) 1/8 (3) 2/13 (4) 2/5
(5) Question not attempted
Company A produces 10% defective

items, Company B produces 20%
defective items and Company C

pf‘oduces 5% defective items. If the

chances of selection of Company is
equally likely then find the chances
that the product chosen is defective.

4 4 T T
Dg @3 @3 @D
(5) Question not attempted

In tossing three coins at a time, the

probability of getting at most one
head is.: ' -

(1) 3/8 (2) 778 3) 172 4) 1/8
(5) . Question not attempted

If Xi~sN@O, )i =1, 2, 3 are
independent random variables,
then the probability distribution of

U=X: X5 + X0 is

(D) By(1/2,1/2) (2) B,(1/2,1/2)

(3 By(1/2,1) (4 FQ,2
(6) Question not attempted
Let a random variable X have the

o
MGF, M(t) =§1—+-2%3)—
The mean of X is
Wiz @2 @3 @4
(5) Question not attempted

The probability of occurrence of an
event A is 0.60 and that of B .is
0.25. If A and B are mutually
exclusive events then the probability
neither of them will occur is :

(1) 0.35 (2) 0.15 (3) 0.75 (4) 0.85
(6) Question not attempted
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36. If X and Y are independent Poisson
variates such that PX = 1) = PX =2)
and P(Y = 2) = P(Y = 3), then the
variance of (X~ 2Y) is :

(1) 14 2 8

@ 100 @ 15 E
(6) Question not attempted ‘

36, If X and Y are two independent
Gamma variates with parameters
m and n respectively, then the
distribution of X/ X +Y) is:
(1) Gamma distribution
(2) Beta distribution of Type I
(3) Beta distribution of Type 11
(4) Geometric distribution
(5) Question not attempted

. 87.. If X and Y are two independent

standard normal variates, then the
distribution of X/Y is

(1) Standard Cauchy distribution
(2) Standard normal distribution

(3) Gamma distribution

(4) Beta distribution of Type I

(6) Question not attempted’

38. If X ~ P, (u, v) then by which

transformation between X and Y

gives Y ~ B, (u, v}*? . !
1F! “ 1
N 1+X=y @ 1+Y‘='}z
1-Y - Y
. ® X=37y @ XSy

(5) Question not attempted
39, Which of the following distribution
has range (0, 0) ? 1+
(1) Normal distribution
" (2) Cauchy distribution
(8) Beta-2 distribution (B,)
(4) Beta-1 distribution (B,)
{(5) .Question not attempted
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(B

Linear  discriminant function

analysis can be used when

(1) Variance are equal.

(2) The co-variance are equal.

(3) The covariance matrix is non-
singular.

(4) None of these

(5) Question not attempted )

The relation between Mahalanobis

D2 and Hotelling’s T2 is

@ T2= %:—1_12-1- D2

@ T2= % "
(4 D2= %’_%2‘2' T2

(5) Question not attempted

Consider the following statements :

(A) Mean and variance of chi-

square distribution are not

same.

Sum of two chi-square
variates are also chi-square
variates.

Which of the above statement/s

is/are correct ?

(1) Only (&)

(2) Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)-

(6) Question not attempted
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given by e
o=l ;
] z—ll 2
W $O="—"""m
|=-1—2ig} 2
. . n_g3
12 ‘ 2 ]
(2) &O)= Bl
[2—-1 _ Ziel 2 .
| | n_3_ 4
2_—1
3 4O =5
: lz-1_ig| 2
1) 7
T 2
4y §©)= e
|=1-38ig] 2

(5) Question not attempted

Rao-Blackwell theorem enables us
tc obtain minimum. variance

- unbiased estimator through :

(1) TUnbiased Statistic 7,
(2) Complete Statistic

(3). Efficient Statistic

(4) Sufficient Statistic-
(5) Questlon not attempted

A range of valub¥ within which the

population parameter is likely to
occur is.called

(1) Confidence mterval
(2) Confidence measure, _ T
(8) -Confidence coeffimen .
(4) Confidencerange * = * .
(5) Questlon not-attempted «

{f i

If S is the covariance matrix.as an

estimator of 2 from a Np ©, )
then A = (n — 1) S follows

.. n
[WAN-DI[Y £ )
TIE o=k
Chi-square-distribution
Mahalanobis D2 distribution
Wishart distribution
Hotelling’s T2 distribution
Question not atterﬁ"ptedj
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47. Let x}, X,y.eeuicey Xy, bE a sample from

48,

49,
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51.

‘density N(9, 62), then the statistic
T = (Zxi, Yxi%) for 6 is :

(1) Sufficient and complete

(2) Sufficient but not complete

(3) Complete but not sufficient

(4) Neither sufficient nor complete

{B) Question not attempted:

A test of a hypothesis is said to be

an unbiased test if

(1) Power of the test is equal to
gize of type I error.

(2) Power of the test is equal to
size of type II error.

" (8) Power of test is larger than its

size,
(4) Power of test is smaller than
its size.
(5) Question not attempted :

Given f(x 8) =% x < 9 for
testing H, : 0 =1 Vs. H1 :6=2, the

critical region x > 0.5 is obtained,
then size of the test is

1) o (@) 05

(3) 0.5 (4) 0.25

(5) Question not attempted

The power of a test is‘related to
(1) size of type I error

(2) size of type II error

(3) sizes of type I and II errors
(4) type of test

(5) Question not attempted

If %, xj, ., 18 a random
sample from N(0, o2), then the
sufficient statistic for o2 is

(1) Sai @ Tni?

@ x| @ [«

(5) Question not attempted
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@) 12

" (2) Composite null hypothesis Vs.

For testing randomness of a series

of observations, which of the
following test is used ?

(1) Chi-square fest -,

(2) Sign test

(3) Run test . ;
(4) Median test

(6) Question not attempted

If the sample =size in Wald-
Wolfowitz run tests is large then
number of runs R is distributed
with-mean :

2m ‘ 2n '
O m+n™l @ Hantl
' 2mn 2mn
3) m+n +1 4) m+n

(6) Question not attempted

If the size of two samples n, and n,
are large in Mann-Whitney test;
the variable U-is distributed with
variance equal to :

nyn, (n; +ny + 1)
(1) 19

nn, (n, + n, — 1) .

!

mn, (n, +n,)
12

nn, My, +1)
4 19

(3) Question not attempted

3)

Neyman Pezirson» fundamental

lemma provides most powerful test

for testing hypothesis : !

(1) Simple null hypothesis Vs.
Simple alternative hypothesis

Simple alternative hypothesis

(3) .Simple null  hypothesis
Vs. Composite alternative
. hypothesis :

(4) Composite null hypothesis
- Vs. Composite alternative
hypothesis

(5) Question not attempted
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57.

68.

59.

60.

The number .of ordered samples of
size n if drawn with simple random
sampling without replacement

-scheme from a population size N is

(1) N2 @) I N-—-n
3) N= 4) Ncn
(5) Question not attempted

In stratified random sampling the
sizes of strata are respectively 100,
200, 400 and 700. How will you
allocate a sample of size 280 using
proportional allocation ?

(1) (25, 35, 70, 150)

(2) (20, 40, 70, 150)

(3) (20, 40, 80, 140)

(4) (25, 35, 80, 140)

(5) Question not attempted

An unbiased estimator of 6% (Population
Variance) in simple random sampling

without replacement is

M N1~1~1Sj2 @ Nﬁlsz
N N

) n-1 g 4 N- 1'52

(6) Question not attempted

Local control is a device to maintain :

(1) Homogeneity between blocks.

(2) Homogeneity between plots
within a block.

(3) Homogeneity between blocks
and Homogeneity between
plots within a block both.

(4) Heterogeneity between plots
within 4 block v

(5) Question not attempted

An unbiased estimator of the
population of unemployed in
Udaipur City is P. The formula for
the unbiased estimator of the
variance of this estimator is

CP (1 - P). The value of C is
N-—n N-—n

O N @ N-1a
N-n N-n |
ONa@-1 @ T-ne-D

(5) Question not attempted
0.
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61.

62.

63.

64.

65.

The interaction AB is confounded in a

93 factorial experiment, the.entries of
two blocks in a replicate will be :
(1) Bl () (ac) (be) ()
B2 (1) (ab) (¢) (abc)
(2 Bl (1) (@) @& ®
B2 (abe) () (be) ' (ac)
(3 Bl (1) (ab) (ac) (bc)
B2 (abc) (@ () (©

(4 Bl (abe) (be) (ac) (o)
B2 @) @ ® @
(5) Question not attempted -

Given the annual trend equation
for production of units in a certain
factoryis Y =49.6 + 9.6 X

The quarterly increment is

(1) 49.6 (2) 9.6

(3) 124 (4) 24

(5) Question not attempted

Given the exponential. curve
Y = 31.5 (1.5)%, the equation of the
curve by shifting the origin
backward by two years is :

(1) Y=14 Q5%

(2) Y=63(1.5%

(8) Y=15.75 (I1:6)X

(@) Y=315(3.57% )

(3) Question not attempted

The suitable trend curve can
initially be estimated by

(1) Graphical Method

(2) Variate difference Method

(8) Link — Relative Méthod

(4) Principle of least squares

(6) Question not attempted

In- a 28 factorlal experiment, the
treatment are repeated in r blocks,
the error degrees of freedom will be :
(1) 8r-7 @ -1
3) 3(x-1) 4 3r
(65) Question not attempted
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69.

(1)

Which™ index number uses the
arithmetic mean of the quantities
of both current year and base year
as weights ?

Fisher’s ideal index number
Laspeyre’s index number

Marshall and Edgeworth
index number

Paasche index number
Question not attempted

@
@®

(4)
(5)

Dorbish-Bowley price
number formula is the

(1) Geometric mean of Laspeyre’st
and Paasche’s index numbers,
Arithmetic mean of Laspeyre’s
and Paasche’s index nuimbers.
Weighted geometric mean.
Weighted arithmetic mean.
Question not attempted ¢ %

index

@)

@)
o)
(5)

If the salary of a person in the base
year is ¥ 2,000 per annum and in
the current year is ¥ 5,000. The
CPI (Consumer Price Index
number) is 325 then the allowance
required to maintain the same
standard of living is

(1) 2,000 2y T1,500 ¢
3) T 1,850 (4 T2,500
(6) Question not attempted .

The equation Y, = ab® where g, b, c
are constants is :

0y
2
(3)
4)
6)

Gompertz's curve

- Modified exponential curve
Exponential curve
All of these

Question not attempted
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71.

73

74.

16

The ratio of births to the total
death in a year is called :

(1) Survival Rate

(2) Total Fertility Index

(3) Vital Index ]

(4) Population Death Rate

(8) Question not attempted

In usual notation the probability of
living in an age group of x to x + I

. gan be obtained from the formula

(1) Ix +n/lx
(2) (x—-Ix+n)ix
3) Ix

) (x—Ix+n)ix+n |

(5) Question not attempted

King's abridged life tables are

based on the calculation of :

(1) Central mortality rate

(2) Number of persons and
deaths for the central age in
the interval {x, x + n}

(3) Both Central mortahty' rate
and Number of persons and
deaths for the central age in
the interval {x, x + n}’

(4) Neither Central mortality
rate nor Number of persons
and deaths for the central age
. in the interval {x, x + n}

(5) Question 1ipt attempted

The value of NRR < 1 is indicative of
(1) increase in population

(2) reduction in population

(3) constancy in populdtion

(4) control populatmn growth

(&) Questlon hot attempted

If Laspeyre’s price: index is équal to

Paasche’s price index, then both

indices will satisfy

(1) both time reversal and factor
reversal test.

(2) time reversal test but will.not
satlsfy factor reversal test.

(8) factor reversal test but will

not satisfy time reversal test.
(4) neither time reversal nor
factor reversal test.
(5) Question not attempted
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75.

Census Organisation works in the

control of
(1) C.8.0. (2) N.8.8.0.
(3) Registrar General of India

(4) Planning Commission

(5) Question not attempted

76. As per Census 2011, arrange the

77.

78.

79.

following states in descending

- order of population density :

() Uttar Pradesh(ii) Bihar

* (iii) West Bengal (iv) Rajasthan

(1) (1), (i), (), Gv)

(2) G, (), @), Gv)

(3; (i), (), ({ii), Gv)
(4) (@), @), @v), (i)
(5) Question not attempted

If good X and Y are complementary
then the Cross price elasticity of
demand will be : ‘

(1) negative (2) positive

(3) =zero © {4) one

(5) Question not attempted

If a profit maximizing monopolist

is producing a quantity such that

marginal revenue exceeds marginal

cost, it can be concluded that

(1) Firm is maximizing profit.

(2) Firm’s output is smaller than
the profit maximizing quantity.

(8 Firm’s output is larger than
the profit maximizing output.

(4) Firm’s output does not
maximize profit but it cannot be
concluded whether the outputis -
too large or too small.

(5) Question not attempted

If X and Y products are perfect
substitutes, which of the following
assumptions about indifference
curve ig not satisfied ?
Completeness .

Transitivity

More is preferred to less
Diminishing marginal rate of
substitution

(5) Question not attempted

The Indian Livestock Census held
every _____ year, :
(1) 5t (2) 8th (3) 4tb  (4) 10t
(5) Question not attempted
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sreferereen § w5 6 R B e ¥ Riw
Torelt 1 o S S T B -

(1) E‘%W 7w wfenfal i
(2) 3T foord o o o

@) wEmHRTHIE

(4) %%w q st w6
(5) orgaRE ye
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Terferetior et St St o1 e |

U ¥ # 3 ) wie WA sefm |

|
!

81,

. 82,

83.

84.

e

s

Rl BN

Gross Domestic-Product is+ . *
(1) the value of final goods and
services produced within
domestic  territory of a
country during a year. :
the value of intermediate
goods and services produced
. within domestic territory of a
country during a year. -
the value of consumption
goods and services produced .
within the domestic.territory.
of a country. '
the value of investment goods
and services produced within
domestic territory of a country.
(6) Question not attempted ‘

If the value of Marginal Propensity’

to Consume (MPC) is 0.75, the

value of multiplier will be

M2 @4 @1 @es

(5) Question not attempted

Which of the following statements

are correct about Goods and

Services Tax in India ?

(i) GST in India was first proposed
by the Kelkar Task Force on

Indirect taxes in 2000. :

Compensation cess is being’

levied on demerit goods and*

certain luxury items.

The composition scheme is

available for small tax payers with -

a turnover below a prescribed

limit ie. 2 crores and 50 lakh fo

special category states,

Choose the correct answer :

only (i) and (if)

only (ii) and (iii)

only (iii} and (i)

All @), (1i) and (iii) E
Question not attempted

To increase the money supply in
the.economy, the Central Bank of a
country — ' i :
(1) purchases Government
securities in the open market
(2) raises the required reserve ratio
(3) raises the level of interest rate
(4) sells Government securities in
(6)

@)
@)

o)

(if)

(iii)

the open market o
Question not attempted
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86.

87.

88.

89.

2

YR & Telig 9o § WoE (9 91l
FaFae - L
(1) T el — e iR %
o Bg TR G ,
@) TS Rl + Yoira Rt %
ol 3 FEE I
(3) e e — ST A
(4) T HTET + AT YR
(5) 3FTING
fr=faRen o & = 1 ww fogw SR Afa
2023 3 T g F el T § 7
(1) wgam % oy € Frerfa e -
Frafam, Tow, T, TRd= foem
SR F | ST, T T |
w4l 3 3-89
(3) IR 8 $-himd el @l Fra s
% w0 § Rl wer 3R
o (RE @R, S,
grf), ST AR SenfEhl) #if
! T A FR AT
(4) wa F ygE i T A
U <] T LT
(6) T A
o 2021 & Ryga =i Fola § wwa &
ST A1 T e o1 ?
(D12 @15 3) 1.8 @25
(5) 3T
fmdgdashe et o =L
@ﬁﬁwwﬂﬁwa?m@?;?
(1) T
(2) St w1 i
@) PRt gwiaw Y
(4) RN & g
(6) AR WA
T T S BT | -
(1) i i smest
@ Rsfergeh o Ae-araal
3
4
(5)

85., Effective revenue deficit in the

86,

87.

88.

®)

Union budget of India denotes -

(1) Revenue deficit — grants-in-aid
for creation of capital assets

(2) Revenue deficit + grants-in-aid
for creation of capital assets

(8) Revenue deficit — interest payments

(4) Revenue deficit + interest payments

(6) Question not attempted

Which of the following pillar does
not belong to key approach of
Foreign Trade Policy 2023 ?
(1) Export Promotion  through
collaboration — Exporters, States,
Districts, Indian Missions.
Ease of doing business, reduction in
transaction cost and e-initiatives.
Emerging arcas — E-commerce
developing districts as export hubs
and streamlining SCOMET (Special
Chemicals, Organisms, Materials,
Equipment and Technologies) Policy
(4) Developing New SEZs in major
industrial States of India
(6) Question not attempted

What was the share of India in the
World’s merchandise exports in the
year 2021 ?

() 1.2 (2) 1.5 (3) 1.8 (4) 25
() Question not attempted

Which of the following transaction
is a debit in the current account of
balance of payment ?

(1) Export of merchandise

(2) Export of services

(8) Transfer payments to foreigners
(4) Transfer payments from foreigners
(5) Question not attempted

A publie good is —

(1) rival and excludable

(2) non-rival and non-excludable
(3) rival and non-excludable

(4) non-rival and excludable

(5) Question not attempted

@




90. TrteRaa ¥ & frg Rrer oo 4 Wi

91.

92.

93.

21 <Y STHTET RIT o 7 ,
(1) S 1992 ¥ Frfier & feat € sfa
7 gt fireR usiem

it aftre, =gts, Rt 2000
Tftror anhient & waa e = e
reT g e 2002 -<

(4 Thdsr 2015 ¥ e g Yaa fawe
RreR wem

(5) Irga ¥

e T fOid 2021-2022 & §R 3§

Fefafea i e s o o Tl 2 7

(1) =a FpE g 2021-2022 &t

HI o T o e TRml-e afit

W Sfled, W T 9g SR we

STte W T S BT O

T

W SR AT R |

(8) 1 % WHY Sfod YT % uEE
UNDESA 8 T R 1 & |

(4) WG T 2021-2022 ¥ T fewm
i 1 964 0.633 Wi ke e |

(5) g e

q1d %1 B 9 @ 9 W U 9w w50

o ot e S e TeT S TR 7

(1) SoUETE @) fufrra

(3) fPgu (4) S

(5) ITFTRa =

ST T 49 % gR | frefifeg # @

BTG ?

@) o TAEE SRS S g S T
T Hiefi War sl defia Fwi £ |

(i) 9O EHEEr % TNOTHEEd 100

-t vt s g |

TE I BT A HifT :

(1) Faa(@)adg !

(2) FFA @R

(3) <l @) 7o (i) Wi € )

@ TROITE TR

(5)  STETING W

@)
@)

@)

—

Tt rum———
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90.. In which of the follolwing summit

91.

92.

Agenda 21 were adopted ?

(1) The Earth Summit in Rio de
Janeiro, Brazil, June 1992,

(2) The Millennium Summit,
New York, September 2000.

(3) World Summit on Sustainable

Development in South Africa

2002.

UN Sustainable Development

Summit in September 2015.

Question not attempted

4
()

Which of the following statements
iIs not true about Human
Development Report 2021-2022?
(1) Three key dimensions — a long
and healthy life, access to
knowledge and a decent
standard of living were used to
measure Human Development
Index (HDI) 2021-2022.
The HDI is the arithmetic
mean of normalized indices for
each of the three dimensions.
(8) Data for life expectancy at birth,
were collected from UNDESA.
(4) India had obtained 0.633 HDI
value in 2021-2022.
(6) Question not attempted

Which of the following State of India
became the first state in the world
to become fully organic farming ?

(1) TUttarakhand

(2) Sikkim

Tripura

(4) Jharkhand

(6) Question not attempted

Which of the following is true

about measuringincome equality ?

@ Complete equality refers to a
straight line represented by
the Lorenz curve.

(i) Complete equality would result
in a Gini coefficient of 100.

Choose the correct answer :

(1) only (i) is correct.

' only (ii) is correct.

both (i) and (ii) are correct.

(4) Neither (@) nor (ii) is correct.

Question not attempted

)
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94.

95.

96.

97.

98.

)

Hif TR g0 AR ISR sead

2021 ¥ yg@ U4} H Juff F @ w v |-
AW ?

(1) FAEH
(3) R
(5) ITIRRA 5
Frefafaa # @ =9 o1 wuw To-fram
Ao & e g T 8 7
(1) Wier-Tpam g ¥ SeTferm I 8 |
(2) TEANF 1.12.2017 A SRR |
(3) ur Foru TRERT it g g 31K
T GO o TITEH gRT 1 TR |
(4) T T EaTa we el & o
Tra o T s |
SR 5
e weffertor 42 — a(x + 1) —b = 0% T
_ 02+2x+1 PB2+2B+1
o B® M T oarb  pErap b

(2) =T
(4) TE

W%:
(1O @1

(5) g ¥
afz a, b, c%wwm%aﬂt

a a’ a3—1.
b b%2 b3-1|=0R, A abec TR
¢ ¢ -1

@mo @2
(5) SigeIia ¥
frfaftga o 9 = o S yaEEE g
FifdE-19 HEEE ¥ wfae wwfior e
% T i TN B % R e A TS 7
(1) STTCARR SR USIR AISET (TEHARETS)
() vuFTEl UK WedrEd AT
()

(35 a+b(4)—%

@ -1 -Wd1

(3) WUFHAT  UFIR  §o@  HEwA |
(it

)

(4) TIFEE TS FEE ISR SRR
(dremrshidh ‘

3TRT)
(5) IARATT

94.

97.

Which State has topped in the
major states category in the India
— Innovation Index 2021, prepared
by NITI Aayog ?

(1) Karnataka (2) Telangana
(3) Haryana (4) Gujarat

(8) Question not attermpted
. Which of the following statement is

not true for PM-KISAN Scheme ?

(1) PM-KISAN 1is a Central
sponsored Scheme.

(2) The scheme has become
operational from 1.12.2017

(8) Centre and State Government

administration will identify

the eligible farmer families.

The fund will be directly

transferred to the bank

accounts of beneficiaries.

(8) Question not attempted

If o, B are roots of the equation
2 — alx + 1) — b = 0, then
a?+20+1 |32+2B +1

4

o2+ 20+ b T pE+2p+b 5 equalto:

MO @1 @ a+tb®-1

(5) Question not attempted

If a, b, ¢ possess distinct values and
a a? a%-1

b b2 b3—1|=0, thenabeisequalto:
c cz c3—1 :
Do @2 G -1 @1

(5) Question not attempted

. Which of the following scheme was

launched by the Prime Minister to
address the issues of rural population
affected by the Covid-19 pandemic ?
(1) Atmanirbhar Bharat Rojgar
Yojana (ABRY) .
(2) Pradhan Mantri  Rojgar
Protsahan Yojana (PMRPY)
(3) Prime Minister's Employment
Generation Programme
(PMEGP)
Pradhan Mantri Garib Kalyan
Rojgar Abhiyaan (PMGEKRA)
Question not attempted
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101.
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103.

(5) FgaRE T
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D12 @21 3832 (423
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Waa+ ot o2 TR ]

@ 1
a? 2
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12 38
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99.

100.

101.

102.

103.

If Eigen vectors of the matrix
31 4

A=|0 2 6]with respect to.
0 0 5

Eigenvalue5are [x+y y x]T,

then the ratio x : y is : o
1) 1:2 @y2:1 3) 3:2 (4 2:3

() Question not attempted

If a,B are roots of the equation
ax2+bx+c=0!then1im

X—>o

1-cos(ax® +bx+c).
(x — o)

(1) 0

® 3

®)

is equal to ;

@ 1
2
@-p> @ S-p?

Question not attempted

By applying Lagrange’s niean value

theorem to the function f(x) = (x + 1)
(x + 2) in the interval [0, 1], the
value of ‘C’ is obtained as :

. 1 1 1
Mo @y @3 @7,
(5) Question not attempted
If u = (x2 + y2 + z2)12 then

3% 6211 &u
. 6y2 +52 is equal to:

0: @2 @3

3 4
| @ @3
(5) Question not attempted

For which value of 2, the rank of
the matrix

12 3
A=12 A T|i827?

3 6 10
M1 24 B2 “4) 3
(5) Question not attempted

00



104.WW%+3¢=

H A S

¢0) ; ‘logx+ 1+cx
(2) y?=logx+1l+ex
(8) y=logx+1+cx
@ ":;=10gx+i‘+éx,

(5) guid T

105. 3Tahe iRt (D2 + 2D + ) y =

xcosxaﬁTﬁmW%

y2log x I

(1 % (x cos x + sin x — cos x)

1 .
@) 2 (x sin x + cos x + sin x)

1. . .
3) E(x sin x + cos x — sin x)

1 . .
(4. E(x cos x + sin x + ¢os x)

m (5) FOE@IH

6z

5 |
106. 222 xy£=x(z—2y)$?3ﬁ%:

1) ¢x+y,yz—-x)=0.
(2) ¢y +yz, 2y —28) =0
(3 ¢ +y%zy—y9)=0
(4) TR B EHA

(p) -ITFTING St

107. qR y = 2 Sy = £ B R 87 B o

¥ it gAET S g, O SO 3 W

ST SRS B
1) =/15 (2) 4nm/15
(3) 2n/15 (4) 7Tn/15
(5) ARG A
00
¥ ,

104.

. 106.

1086.

The general solution of differential

. d .,
equation xai +y=yllogxis’

, 1 . _
(1) F=logx+1+cx ‘

(2) yi=logx+1+cx
(3) y=logx+1l+ecx.

1 ,
(4) ;;=10gx+1+cx

(5) Question not attempted,

The particular 1ntegra1 of the
differential equation

(D2+2D+1)y X Cos xis T s

1 . :
(1) B (x cos x + sin x— c03'X) )

1 . ' .
(2) 9 (x sin x + cos x + sin x)

1
(3) 9 (x sin x + cos x — sin X).

1 ) :
(4) 2 (x cos x + sin x + cos x)

(5) Question not attempted, ¢

Solution of yzg—i' - xygg = x(z = 2y)
is :

(1) ¢x+y,yz—2)=0

(@) olxy +yz,xy—22=0

(@) 6P +y%zy-yH=0

(4) Cannot be determined

(6) Question not attempted

[

. If the area bounded by y = %2 and

y = x is revolved about the x-axis,
then the volume of the sohd
generated is equal to :

(1) =f16 (2) 4n/15
3) 2r/15 (4) Tx/15
(5) Question not attempted’
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et st o R HIR -
I.  f(z) =logz, T Ta7 AR 2 |

II. f(z)=xy + iy, T8 ReeiRe 7€ ] |

IIL. f(z) =1y |, Sifi-Fom aeiemar |

" Tge A & wog o Reg e i |

109.

110.

111.

e f(z) =

37w s S R PE A wR
adl ¢

(1) Ivenllwdig

@ Nsnlladd|

(3) IemIllediE|

(@ LIsnmIlahadd)

(5) SgERaTE .
Ife TF Fe £(z), Th H69d Brg C % T
e FR % Toft Faregail w Rvefts &),

f f(z)dz sUeR g

(Cl) Z @0
(5) rgaia e

@1 @

Tz—2
z+1)z(z-2)
z =—1%mﬂa¢@m?ﬁﬁ'avﬁ%

® f(z)--—+§

{(5) TN T

VWA z=x=0;2—1=x— y=0%

622 8%z :
gaﬁaﬁaﬂt (a ayJ 4

2
[gy ] 0 ! §g8 H TN TE R :

MDz+t20)=3x Qz@y+2x)=x |

B ziy+x)=2¢ @WDazly+x)=x

(5) i e

a;meg

108. Consider the following assértions :

109.

- 1100

I fz)= log z, 18 analytic everywhere.
II. f(z) =xy + 1y, is not analytic.

I £z = [lxy], Cauchy-Riemann
equations are satisfied but not
analytic at the origin.

Which of the following are correct
for the above assettions ?

(1) IandII gre true.

(2) 1I and III are true.

(3) IandIil are true.

(4) I,II and III all are true.

(5) Question not attempted

If a function f(z) is analytic at all
points inside and on a closed contour

C, then | i)z is equal to: E
C

(1) =z @20 31 @-—=
(5) Question not attempted

For the function () = ;5 ng (f 5’

a valid Laurent’s series about the
point z=—11is:

W fo=—2r+3+ L iy
@ f(z)-zfl+§—-§—(z+1)+ ........
@ I”(Z)=-_::1+'1—:L '5'(z+1)+ ........

@ f(z)—“m-g— 9 Z+D—...

(5) Question not attempted

| 111, A surface passing through the two hnes
z=x=0;z—-1=x— y~—0andsatlsfy]ng :

&z 0%z &%z
" (%J 4(657} Oi:

MzF+20)=3% Qz@F+2%)=x
B z+tx)=2x Dzly+x)=x
(5) Question not attempted
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112, IRk P (x)mmmmgw% al
l(x)W‘E
M1 (@)
(5) ITITRG T

113, IR Som % R, T s d ;

rMpra-p-o)
Fy-a)T(y—p)

i'(? Drey-p
)l (y~p-a)

|'(7 -~y -p)
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=Tr-lrG¢-p
4 F s Py
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OEzsichic

3) x

@) x

(1) JFy (e, By D=

E @ F1 @B D=+

(3) 2F1 (GRS

— o)

114, F(p) = log [&3}@ SRren AT
p+2
YT~ % H
et~ g3 ~eZ 473
(1) " 2) — 5
. -2t _ g8t
(3) t @) "
(5) -ITFaRa WA
/2 .
115. J. tanxdx =
0
(1) m sec [%) (2) % sec [%)
( 3) g 2 'gn +212 i
G aﬂﬂﬁﬂm

25

112. If P (x) is Legendre’s function of
| first kind, then P;(x) is equal to:

M1 @2 @xr @x
() Question not attempted

113. For Hypergeometric function,

Gauss’s theorem is :

‘ Fepre—p-o)

Fey~-o)l(y-p)
FMy-Hre-p

Ty-o)r(y-B-a)

[y—o)lG¢—p)

rnriy-p-o)

(1) oF @By, D=

)] oFy (e, By 1) =

3 F B D=

_Ty—)ly-p-ay
4 F ;
‘ @) JF @ BypD= r-DIG-p

(5) Question not attempted

. Inverse transform of

Laplace
F{p)=log (
P

p+3). .
),

— g2t 478t

t

1
Question not attempted

D @)

@3)
(5)

4

- wl2

115. f tan™xdx =
0

1) msec(%} (2) 5 sec(lng

®) —s n+ 1}11:(4) nsingn+21!qt
(6) Question not attempted
a
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116.

117.

A student wants to.add bookmark

to a PowerPoint video. He needs to

follow these steps :

(1) Click on Insert tab and add
bookmark.

{2) Clock on Playback tab and

add bookmark.

(38) Click on View tab and .add
bookmark.

(4) Click on Design tab and add
bookmark.. .

(5) Question not attempted

Match the following w.r.t. MS Word :
1. Close the document a. Cirl+Y

2. Select all the contents b. Ctrl + K
of a document

. 3. Increase the font size c. Ctrl + A

action
- 5. Align the text tothe e. Ctrl+ W
center -
1 2 83 4 5
I 4 a e b c. .
(2 e d b a ¢ X
@B e ¢ d a b R
4 b ¢ a e d

118.

119,

4. Redo the previous

by 1 point
d. Ctrl+d

(5) Question not attempted

Which indent marker is' NOT
present on the horizontal ruler in
MS Word 2013 ?

(1) Left. Indent Marker

(2) Right Indent Marker

(3) Hanging Indent Marker
(4) First Line Indent Marker
(6) Questionnot attempted

and ___ can be used as
wildcard characters within a text
string or as part of a search
criteria in functions like COUNTIF
or SUMIF (In Excel).
(1) <and> (2) Aand/
8) —-and* 4) ¥*and?
(5) -Question not attempted
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122,

124.
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l\

Final Account subsystem in
Accounting Information System
(AIS) deals with

(1) Preparation of Budget

(2) Preparation of Payroll

(3) Preparation of Final Accounts
(4) None of these

(6) Question not attempted

. Which of the following

statement(s) is/are correct ?

. Email ids are used for
communication.

B. Email id can be created on
Outlook.

C. You cannot search an email
sent by you.

D. The shorteut key for sending
the email is Shift + Enter.

(1) A, B and C are correct.

(2) -A and B are correct.

(3) B, Cand D are correct.

(4) Al of these

(6) Question not attempted

Which of the following is a type of

independent malicious program

that never require any host

program 7

(1) ‘Trojan Horse (2) Worm
(8) Trap door (4) Virus
(6) Question not attempted

. A digital signature is a technique

which validates

(1) Authenticity

(2) Integrity

(3) Non-repudiation

(4) Al of these

(6) Question not attempted

Function library of MS Excel does
not include formulas of the
following category :

(1) Logical Formula

(2) Date and Time Formula

(3) Chemical Formula

(4} Financial Formula

(5) Question not attempted
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125.

| 126.

127.

128.

129.

130.

Which of the following is/are modes
of digital payment ?

(1) Point of Sale (PoS)

(2) Smart Card

(3) Internet Banking

(4) All of these

(6) Question not attempted

RTGS stands for

(1) Real Time Gross Settlement

(2) Real  Transaction  Gross
Search

(3) Real
System

(4) Real Time Gross System

(6)

Which method is

Question not attempted
connectivity in RajNET ?
(1) Satellite
(2) LAN
(3) SWAN
(4) All of these
(6) Question not attempted

What is RajCAD ?

(1) A self service ATM to avail
G2C and B2C service.

(2) An End-to-End automation

gystem incorporating all the

routine workflows &

processes.

A system to  provide

e-learning courses & online

trainings to. Government

Departments.

None of these

Question not attempted

Transaction Gross

used for

(3)

4
&)

e-Bay is an example of which
e-commmerce model ?

(1) B2C (2) B2B

3 (C2B (4 C2C

(6) Question not attempted

UPI stands for -

(1) Uniform Payments Interface
(2) Universal Payments Interactions
(3) Unified Payments Interface
(4) Unified Payments for-India
(6) Question not attempted
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1 132.

135.

. The

Badwa Yoop inscriptions
associated with

(1) Mokhari dynasty

(2) Maurya dynasty

(3) Parmar dynasty

(4) Khichi dynasty

(6) Question not attempted
Who among the following Chauhan
rulers built the Harshnath Temple ?

are

(1) Chandanraj (2) Ajayraj

(3) Guvak-I (4) Vakpatiraj
(6) Question not attempted

. The ruler Panjandeva / Pajvan was
associated with which

of the
following dynasties ?
(1) Badgurjar (2) Guhil
(3) Chauhan (4) Kachhawa
(6) - Question not attempted

. To whom the title ‘Dalthambhan’

was bestowed by the
Emperor Jahangir ?

(1) Gaj Singh

(2) dJaswant Singh

(3) Soor Singh

(4) Ajit Singh

(5) - Question not attempted

Mughal

Which of the following is not

correctly matched ? - ¢
ear o

Newspaper Establishment

A, Nav Jyoti 1936

B. Nav Jeevan 1939

C. Lokvani 1943

D. Tyag Bhumi 1929

DA 2 B @C @D

(5) Question not attempted

. Who among the following were related

to Bikaner Prajamandal movement ?
(i) Magharam Vaidhya
Bhikshalal Bohara

Laxman Das Swami

Only () and (i)

Only (i) and (iii)

Only (i1) and (iii)

All (), (ii) and (ii)

Question not attempted
pre-historic site of Bagore was
fivst excavated under the directions of
(1) B.B.Lal (2) B.K. Thapar
(3) V.N.Mishra(4) A. Ghosh

(5) Question not attempted
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138.

139.

140.
- child birth clothes and ornaments

141.

142,

143.

When the post of “Rajpramukh”
was abolished in Rajasthan ?

(1) 30t March 1949 AD

(2) 1st November 1956 AD

(8) 26t January 1950 AD

(4) 18th March 1948 AD

(5) Question not attempted

Which one of the following set of

ornaments is not correctly matched ?

(1

(2)
(3
4
(5)

On the occasion of the first male

Angotya, Karnphool, Pipalpatra,
Jdhela

Timania, Tulsi, Bajatti, Halro
Kangan, Nogari, Gajra, Nevari
Langar, Payal, Nupur, Jhanjhar
Question not attempted

are given to child and his parents
by maternal side. This custom 1s
called

(1) Jamana  (2) Mayra

(3) Paharawani(4) .Juhari

(6) Question not attempted

Which of the following fairs is not
correctly matched ?

(1) Kaila Devi Fair — Karauli

(2) Kapil Muni Fair — Kota

(3)° Bhartahari Fair — Alwar

(4) Sheetla Mata Fair — Chaksu
(5) Question not attempted

Where Dharadhargarh fort is located ?
(1) Chomu

(2) Pratapgarh

(3) Hanumangarh

(4) Tonk

(5) Question not attempted

Who among the following was the
founder of “Shri Desh Hiteshini
Sabha”

(1) Mahar_ana Shambhu Singh

(2) Maharana Fatah Singh

(8) Maharana Sajjan Singh

(4) Sir Walter

(5) Question not attempted
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148. Who

144. Which of the following is a stringed
musical instrument ?

(1)

| G

ey

Jantar.
Bhapang
only (@) (2) only (iii)
only (i) and (iii)

(1), (i) & (iii)

Question not attempted
founder of ‘Nishkalank .Sect’

(ii) Ravaj

Sant Mavji

Sant Dariyav

Sant Sundardas

Sant Ramdas

Question not attempted

146. Which one of the following pairs is
not correctly matched ?

B
(1) Harbuji ~ Bengati
(2) Mallinathji — Tilwara
(8) Tallinathji — Panchota
(4) Dhannaji — Simbhudara

(6) Question not attempted

147! " The author of Ranmall Chhand was
(1) Shridhar Vyas(2) Beethu Suja
(8) Madhodas (4) Keshavdas
(5) -Question not attempted

is  the  author
‘Raagkalpdrum’ ?
.(1) Bhavbhatt
(2) Krishnanand Vyas
(3) Pundrik Vitthal
(4) Hammir
‘ (5) Question not attempted
149..In Rajasthani literature
““Parachi” / “Parichayi” denotes :
"(1) Life sketch of saints
1(2) Narration of heroic legends of
kings
i(8) Genealogy of rulers
(4) Travelogue
(5) Question not attempted

150. The painter, famous for depiction
of life-size portrait is
(1) Nihal Chand
. (2) Shrirangdhar
" (8) Sahibram
(4) Kishan Singh

of

the

(5) Question not attempted
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